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4l 1B, 02 : @ 1L, < AA+BB, =0,
k I
Jefna: tana |1 kk| (L:y=kx+b, L,:y=kx+b,, kk, #-1)
o | Ax, + By, + C| .
MBI R A A d= \/AZ 32 (,'ﬁp(xovyo), IERCAN: Ax+By+C=0).
+
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[5 fy =y 7

(D FRESE (x—a)’ +(y-b)’ =r".

(2) B X+’ +Dx+Ey+F =0 (D*4 E2 —4F >0).

o xX=a+rcosf
(3) HZHI5E

y=b+rsinf
BHASRAMME SRR BEE&AX+By+C=05f(x—a)* +(y-b)* = r* M B X EH=
fid>rolE oA<0; d=ro o A=0; d<re X < A>0.
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x=acosf
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y=>bsin
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%R0 XUHIZL
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L 22y 77 7 "_z_g—zﬂ CHE S57E x D
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yZ x2
LTy EmrEy D
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22, SIS : 2a. HHIEK: 2 b £ 2 c; HLE, e=—
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He: ¢ 2=¢4>+b 2, ER: BRENIENG?
23, KA Z6 (7 7 H L2 T FERI R A -
2 2 2 2
(1 Eir N Y o) Stk Y —0e y-t2x
a- b a b a
y2 xZ 2 xz a
(2) FRML TN - =] S HELE: L 0 y=t—
az b2 a b b
ERIL WYL
S (IR TR e vevneeanaenanennanes FE SR eeeeneneees HELE T eeenvnnneens FFOH
(1) y2=2px(p>0) ............ F(B,O) ............ X=—£ ............ Bk
2 2
(2) y2=—2px(p>0) ............ F(—E,O) ............ x:£ ............ a2
2 2
(3)ﬁ:%W@>m ............ NQ§J ............ y:_g ............ Bl

22 /28



(4) X2 ==2py(p>0)rreeeeer F(O’_E) ............ Y= TR

Hor: PRIREM (B BFEEL (ML KIS
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FEMEMER Fﬂ
T TEOME
SHNEASEENTEXR
ZEAEZ. FEHAEXR IR ELS FERIERS
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FESFETT
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(1) HEAON LR T IR A 388

(2) HelL LS T 47

(3) HeAL AT A7
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(1) BN B2 5 P AR — TR

(2) FE % B 2 5 P POAIAE — AR T FL s

23 /28



(3) BN IZBEL S T — 2k LT AT
(4) BAONZELERT 55— A7V
(5) HeAb Nz E LS P TR BT I A T .

BTAE ZHAE

oSjE B AT R
ZFEaREAIELS BN

MENARER

Z[EEERIAIRRR

hmE. RE. BERREEME

FEEENEE AR AL

BEEXRNFIE

FR— ZHHERES
IR 2% 0] h) = A AT

¥R B EERBRRR
AR 28] v 2 AR R IR TV

ER= THARKNEHE

7% ) [ea) B (1) 09 5 H e ) & ds ) os RA
(1) k2 #efdt: a+b=b+a.

(2) ks &4 (a+b) +c=a+ (b+c).
(3) Hk/ricf: A (at+b)=XAa+ Ab.
-& a= (al’a29a3) » b= (b1ab29b3) )I_\”J
(Da+b=(a,+b,a,+b,,a, +b,) ;
(2)a—b=(a,—b,,a,—b,,a;—b,) ;

(3) Na= (Aa,,Aay, Aa;) (N ER);
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(4)a b= a,b, +a,b, +a,b, ;
Ff AN
'&a:(alaazaag,)’ b:(bpbzabg,)’ }H\U

ab +a,b, +ab,

cos (a, b) =75 5 5 5 . 5~
\/al +a, +a; \/bl +b; + b,

FHLE SHAENEREE

ZENODERE R

T

ke

PRFRROZRETR

FER— S
UNAGE R E |

¥ H T ek
1. A MV A

Vi =Sh (S RAEARMRIERL. A REAAKED

1
Vi =3 Sh (S RAIBRIRTTRL h 4K

o 4
2. FRIERER, mUﬁ1¢$HV=§nR3,E%%ﬁ NS =4xR*.

F+N\E #75. de5_mA e
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ER— HHURE

L. 3 FImEIA R Ok 2D

N=m+m,+--+m,.

2. TR Gl R HD

B pRZIEINE; 7P Z AE k.

N=mxmyx---xm,.

n

EFRZ HFAE

BRI 1 A S
!
HEI IS o Aste B =n(n=1)(n=m+1)-——,
(n—m)
Yo (A L Ak, cro D (rmmal) n! |
’ m! m!-(n—m)!

H= ZHAEH
e (a+b) =Cla" +Cla"'b+Cla" > +---+Cla" b +---+C'b" ;

SR RMERART,, = Cla" b (r =012 n).

BTALE BERSZHHID
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FitHIE BRI
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AT, BAGE. BAREE

FR— BEVEA RHEER

1 ST R AR R P(4) = 2

n
(Hr: mFER ORI n M AL BL0SE B, ol A B8 14 538 mAlD
2. BFHM A, B AR MBI P (A+B) =P (A) +P (B) .
3. AN FEALE B A OHER (AT P (A1 +A24 -+ An)=P (A1) +P (A2) ++-+P (An) .
4. MR A, B R RAEIHEZ P(A - B)= P(A) « P(B).
5.n MMSTHEAEFRN KA P(ALe A2« -« An)=P(A1) « P(A2) * -+ P(An).

YOS T SR R A T R A K IR P (k) = CE P (1-P)" .

EEZ GitHE

BHABENLA B ARSI AR (D B20(=12,--); (2 B+P+---=1.

BENLAS & & 117 A1 41 &
4 x 1 X 2 x 3 X 4 | eeeees X n
p P1 P2 P3 P4 | eeeee Pn

B EE =x, P +x,P,+--+x P + -
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